(B 1)
L | %1 § = -
s T L “FH0 K97
(7 2)
(7)
ALDH2*1/1 | ALDH2*1/2 ALDHZ2*2/2

@}
(1)

/b
(%)

LUk 5 BENRD 5 \NOEE

3&
(H 3)
(7)
1 A 2
(1)
2 @
(B 4)
(7)
- . = MRt -~ =

L 3e3y |2 BXREar -3 ] T
(4)
()| © A ®

(i) /| O v A




2

(R 1)
T B LAY 1 8P B fa AR, # ¥

(M 2) o /‘%\ - T _

) I

7 (%ii{fggéfaﬂi) (ﬁm%\%ﬂ KT F5E: riﬁ%aﬁi) AR a4t
T F B WA

(M 3)

(7) -
Y% Ah Taszrwf B-h5 == )= Jiv
| A F At

503’

EL\WiEE

%

TS -t >

B AF




N

N

(7)

........................................
.......................................................................................................................................
1 ] " N

= e B

I B% 7

2

BRETHBEMTT 27k g~k
W< A |

i
1
i
i
2

2% G

25

®

RH BE (

L.

(F3)
(7)




